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CHOOSING AN INSURER

This article 1s written totallv wnder present Indian
condltion,but  keeoing  an  eye2 on the2 futore, when there will be
numner of insurers,and this Modle can be applied to any condition
where alreaady number of 1nsursrs anishks.,

Back Ground of Indian Insurance Sector

Life Insurance 1n 1ts morden Yorm came to India from England wav
baok 1N 181E.Ths First ffr3urance Company an tndian  s0il
same Ly, The firrental Lite Insurance Company was started n
Taloutta malnly by Burapaans, o help widows af theire commuanity.
The wyear 1870 heraided the bivrth of first Indian Insurance
Company ,the Bombay Mutuwal Lifs Assurancse Society,wbhich came into
existence  to cover Indian lives at normal rates.During the
garlisar period ,Indian lives were tre2ated as sub-normal and
loaded with extra premium of 15 to ZO% .
After the faitlure of a number of insurance companies , the

Eritish overnament  enacted for the first time the Insurance Act
187G,
During the decade 1945-83 ,as manv as 20 insurers went into

Liguidation and s2gual nomber had to transfer theilr business
other oCompanies.tven amono companies continuing their business
®manys  as 79 were unable to declars any bonus at theilr last

B4 Valuwation.

O 19 Jan.1934 Govet. promulgated an Ordinanc
tnsurance JALL S life  ansaramT:  companies ,Indian sz o well as
Foreign ,doing business in India came wunder Governnent Maragement
and  Tontrol.0n lst sept.1994 Life Insuvance Corporation of India
(LICY came 1nto existence ,35 & part of Mationalization which

constituted 256 companies.

Since 19%&,there are few bodies in addition to LIC
which condeckt Life Insurance activities in India .They are Postal
Life  Insurance ,Army Broup Iasurance Fund, % Maval ang éAir Force
Lite Insurance  Fund JBut the proportion of other 1:f2 insurance

2 regarding life

over LI s

negligible.

It often happens  that seslection of life
(IR N » TR A o 1t saldom happens that in rars aras oho
host 1t can be,when there are small number of insurer and in
Cases thars 1s a monaponly.

done by life
an L 0f course
sOnune

In the expectation of opening of inzurance market and setting
up of Interim Insurance Regulacory Authority gives the hope thare
will be competitive ir rers 1n a coming time.
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W2 33varil insdrers work 1n o1 given eavironment, 1t 13 otten a2
Taro o2 oatential would bel policy holder wnare to go and
o2t wnsusrad.Uotell naow this guestion di1d oot arisa doe

iy znia theretore

e do Rt have any measure or 1.

X R artiin pumper of 1asurars are thare,doas
ik maan  tnaty all ers ara equally oood Just because
Ramuulatovy Authority 13 allowing o do the business.The answaere |
R4 consrae oLPotential policy helder must have an 1dea about the
guiality of amsurar and variabiltity batwesn Lhem.

Lat v  auppos2 tha

n

! -

Here an attempt has been made to measure the guality of the
inswrer and the wvariability between fthem ,s0 that it will be
felpful for poftential policy holder to  choose 1ts insurer
according o theilir reguiremsnt.

WARNING:

Or=> thing is oiear that vE oaralvsis 1s bheing done ftrom

a  point of vigw of a potential policy holdery and Insvraoncs

Ml not  have anw sav o1n 1t ewsept to improva their
ok should be reflected 2 thelir Yuture data.

%1% 1% dgone from 3 peint of view af life area but
1y non-Llife areg osing same Lachniaoguwe.

This analt
can be applies

MODEL DEMELDFMENT :

We o= “Lowith o a very tundamental guestion which makes the & iz
0f sntire analysils.

WHAT 1S THE  PDLICY HOLLDER S REAGONABLE OR MINIMUM EXFECTATION
FROM THE TNSURER 7
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M2 waAntTE
-——- 3 S0UNG 1nsurenr
—-= o premium rates
e

- higher bonus rat
- guick zettlement of claims and maturity

=

""" - efficient service

We consider one by oone

A Sound lnsurer :

Since life i1nsurance contract 1s often of long term 1n nature
,it 13 mssential to ensure that tha financial heal$h of insurer
15 sound i.e.he  should have sufficient fund to meet his future
liabilitias a3 on any Valuation date.Valuation can be af many
tvpes viza for FProfit Reporting,Taxation,Statutory Solvency
Valuation t.2. to deronatrate financial soundness o Regulator.

vary prime area of

Judging financial  soundne 2
have taken claim over

[ETatat_Raly] for  Regulatory Authority

wire may COFH

fund ratio as &

tam tor ¥he financial year dy deabh % maturivy

IS

Life tund of oreviows year

i takes the wvalue ‘a’ i.e. COFR = a

Ha

i

Lat

The  paramet2r  which have Dbesn dafined abnovse  sayvs  that ,1f
denominator is  large asz compared to numerator  ,there is 2
likalifhonod  that in future inswurance company will be able to meat

his Liab:-lities.

Fioobher better measure which can be introduced is oz
Total bLiability

Total Life Fund ar Asszats

let its value be' j

figain guite 1intuitively ,smaller the2 ratio more sound the
insurer is JHere ,Tofal Liability % Total Life Fund which have
been arrived at for Valuation to declare bonus ar profit.
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Anmtrier wmaasars whioh o can he antroduced 13 :

For thae purpos: of Statutory S
i o adeacnstrate financial soundne
the following

Dlvearnoy Vil t1on ywhera ong
5 af the company , Tonsidar

Ve lue of ax on o Aany VMaluation dats has been

arriyvag

1laitrestr 18 boown l.e.

oot law ol st
prrted Donus 2bo.

all futae

pAtrILen, annenses, ay

—-— Mortality 1w mame whaich fave been usen tTor profit

raporiinag.

Flow 1F we Tind wviald from fallowing egquatiron of valus

Value of Asseis = Discountad valwe of all future cash flow
{Liabilities) using rate of interest 1 2
Mortality as mantioned above

It wman be sean nere that we are eguating Assets % Liabilities as
DU PUrHRDSE s et o oshow oany surpius.clet the vialod of the abovwe
iy 1f thave are number of 1nsurers 10 the

epiation be N
s
JERan one 0T an

idge foam the valus of @ of gifferent

1
tnsurers atout therr finanoial strength,as smaller the value of
L mare sound the insurer is.

Low Fremium Rates:

Premiums xve Calowulated from following eguation of valuas
Fresent valua 2f premiums = Present value of Benefits -+
preszent value of expenses
tAbove egquation Incliudes rate of interest 1 % Mortality )
I 15 uclear from abouve equation that as rupenses goes up , the

valuwe af Premium wmill 9o up i1.8. expenses has direct effarct on
Fremium.
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smible2  when proportion of management

3

. are  po
1o premLum 15 low, thas wa have taken next parameter for

13 managemant 2xPANEeS Ovar pramian ratio, say

et 1¢3 value be "b’ 1.e. MEOFR = b

Higher Bonus Rates

areg arrived from surplus and swrplus i3 the
dittersnce betwesn Life Fund ar dssets and Total Liabilities {.e.

Surplus = Life Fund - Total Liabilities

Surplus depend upon number facters, as it is a differsance of
two  comnponents .To have higher surplus CLife fund should be
higher and lLiabilities should be low .

To have higher Life Fund .prudent investment is essential in
differant sector of soonomy.

Thus yield on  the Life Fund should be higher ,which will
mak2  impsact on the surplus.if "1’ 13 the yiald on the life fund
cthen we  snall consider h = (i-1) as an indicator i.e.lowar the
value of "h™ Cetter vor policy holder.

Mow fo have higher surplus ,total liabilities should be less
ywhich 12 of the function of srpenses,laps2s,zurrendsrs,aarly
claims penses wa have already considered .

Hara,thz furthar indicators can be

Ratio = Lapse— Reviwval

Laps

2xiting policies or (total sum assured)

Gurvender Ratio = Number of poiicies surrendered during
tha year.

Total number of policies at the end
of yvear + numerator

Early Claim Ratio = Claims which has arrived during the
last teo years of issue of policy

Totzl number of existing policies
+ fumnmarator
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Quick settlament of claims and maturity :

attar sales sarvice 13 a sensitive topic from the point
of vigis oo oaf clients.The prime obaect of life i1nsuarance is not
ranctlisation of 53vings of the community but providing swocour 4o
clients  and their heirs  when the contingenc iNsured against
arises.lf r15k 13 Aot o be cowverad insurance 15 meaningless LS50
, how fast are the clamms settled 13 an important matter from the
point  of tnsured, thus parameter of study 15 Ratio of outstanding
clatm tom claim pavable LROCTOP 1.e.0laim outstanding at the
= 1ntimated during ths yvear.

baogroanting of Lthe yoear plos o3iar
Let its walue be ‘¢’ i.e. ROCTUP = ¢

Efficient Service

in  the world of free flowing information one wants a
very afficiesnt service, as life contract is often of long term in
natura. To determine this we have considered two variablesy

halder gbout the insurer.This will give

4) WBpinion of pola
vigw from oubtside.
17 » people are asked to give their opinlon,we shall keep
anly  two aption whethar Satizfied or Nobt satisfisd , and our
praramater will be Satistaction Ratio 8RR ,defined as

SRo= Mot satisfiad from insurer

Total nu. of pzapls surveved

Let 1ts valus be "d° i.e. &

and vartabla 15, Frustration level within the
aaThis will give an inside view, and its measure

s thea
tnzuranoe ot i
will e Frustration Ratio,FR, dafind as

FRo= Moot perople not satisfied within organization

whiizh fave been survayad

Total mo. of people survavaed

lLat i1ts value he ‘e i.e. FR = @
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OTHER PARAMETERS :

criteriz can be
pracuramant of bosziness or Naw business

Eency , for thes

by frsl ity of  businsss  1n bterms of 1ts pras
s 1n force and

purpose there shouwld relationship between busine
news  business 1.2, firgt year 3 pramiums tnoom?2 and ranewil

Gramitm 1ncome .

ALl the parameters’which haven chasen has a lob of saving
in boildirey  wup an lasursre JIF a0 insuwurer i3 not sound ,parhaps
Regulator will not allow to do the business .Higher premium rates
will result into  low New PBusiness JIn the compeititive wmarket
higher Eonus rates is one of the prime attraction and in order to
sushtain the pressure ,there should be competitive Bonus rates.

No  body is golng to take the policy if insurer takes years
tn setfle the claim .

What we mean to say 1s that the parameters which has been
taken wup dipicts the position of an insurer and its value is
gquit sensitive in terms of overall position of insurer.

ASSUMFTION : ALL PARAMETER HAS EQUAL WEIGHTS

Though  there i3 some inter relationship between parameters
mantioned above ,but we have assumad it to bs inda2pendent for the
sake of simplicity, otherwise model would have been very complex.

Thus our parameters ars {(a,b,-,d,2,!.All the paraneters are sat
in such a way that mimimum  the ratio, better for the policy

holder.

For generalization .consider a geneval case i.e.thsre are "m’
"G, BAY
(2, 8 3 & 3 sansnngy & b
i 2 3 [l
The : have been considered so that more parameters can
be considered than what we bhave taken.

paramebar

Let wus further suppose that there are 'n’ insurers in the given
anvironment and the valuese of the parametsrs for i'th insurer isg

for all i=1,2,3,....n
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S siddenr m dimansional spacse and 2ach 1nswurer has a2 sesn of
(3 =t . [ Yotor o all 1=l E. .. an
11 1 ni

s31onal soace .

raprazantiong tharr posittion 1n oan dima

Tha distance from arigrn of tLbh woserer 1s

o= (3 + 3 + a + + a3 3 for all 1=1,3...0

Since the parameter are set 10 such a wav that minimum the ratio
Soetter 1t 1z for policy holder,thus  the 1nsurer havino the
minimum  distance  from origin 13 be2st from 3 point of view of
policy holder, the distance of n insurers will be

T T -

1 2 e/ n

and they can be ranked 1n ordere of minimom magnl tade.

Variability Between Insurer :

Now w2  are interested 1n  the study of varizsbility between
insurers, tha  wvariability between ith  and i¥h  insurer is the
distance between them which is

2 2 %
Y = [ (a3 - a '+ (a2 - a L ! - a 3 b]
1i 11 13 21 23 mi m i
when 1¢ 3 % 1 =1,Z,.....n , 3 = 1,2,...n
Llhe lavger the diztance ,areater ths variability between ihe

insurer and vice versa.

If all the n 1nsurers are gquite close to each other, we expect
the wvalue of W for all % 3 will revolve around a
particular 1] point.

This will give a crude variability batwean insurers.
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T . e Lok at it from oanothare angles.8ince,me are imterastad
10 Faowing the compacin: ct N poDIntE in om dim2nsional
space,th1s 15 2guivalent £o studving the compactness of d° 3

i
for  all 1=1,2,«..n , ( with the assumption thit permutation and
rambination of  same co ordinates iz nob possible for different
insurar ) the distang of n poinkts from orlgin.

Let ¢ 5  follows Mormal distribuotion with population
i 2
Flean 8% ¢ and varliance o JEhen  95% confildence
[} 3}
interval o¥ 1%
5|

ample mean and = 1% sample standard deviation
d

wiers o 3

“
m

i
n

s

tne guastion which garises here

MWormal Disfribution 7

It actually depends upon type of environment iz given.If large
rumber of  insurers  are working in a well develope2d economy for
very long period ,then, it is expected that value of d will

i
cluster around a particular point and Mormal Distribotion will be
quite mafe amsunpiion.

1t few rnew insurers enter in a well developed market ,then he
has o siruggle very hard to kesp pace with other insurer and
ely a2t will be on the right tail of the distrabution.

[LTTAR0 S N

Now , if a largs nuaber of insurers enter into 3 monopoly
market where two third 15 a very experienced insurer and one
third 13 a new one Jin such case the distribution will be
PLATYKVURTIC (i.e. much flatter than Normal curve) and skewed to
right ybut with the progress of time ,this may bacome Normal i.e
thoze on  the right tai1l will start joining the cluster.But if
thera 15 a large diffearence in t2chnical skill b=twesen ons sot of
insurer and other,then distribution will be skewed,and it will be
paositive if proportion of skilled insurers 1is high and vice

versa.
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Bt i v £ acerrtaln the eract naturs oFf distribution

sodvztribotion of o Lan Le frtsed and checkad praovidedg there arve

numpar  of 1naurers a3 10 case of pre 1998 period of India
| LIVEILS RS 2 thara,and then  oane  an fing 995%
1oberval .

b e

coontigens

Pow our 1atzraezh 1ooan ¢ ‘s which does not lie in

L
the above convilidence interval.This can  be 3ad as.ule  are
interestad 10 besbting repr2sentitive sanpile of population, and a

= A )

contAaining larger deviabtion whickh are not representative
of tie population L.2.we want LYhose o % ohaoh e out side

3
b
confidence interval ars outlier can be rejected ar nokb.

CHAUVENET'S CRITERION FOR REJECTION OF OUTLIER

Let n bea the s1ze of zample and

% = Graztest or Smallest Value 1n the sample

% o= Hample Standard deviation

At

An outlise 13 rejected 11 walculated value of following
Statistics

exceeds the table value,( s tables are available in certain
books Y.For testing outliers ane may adopt MAIR'S or DIXON-TYPE
TEST.

Once we are in 3 position t9  rejsct  the oputlier,it

tmmediately 1iwmplies, that particular insurer will not be in the
cluster of points in m dimensional space and the distance of this
insurer from origin will be maximum or minimum and most probably
it will be ranmked last or first in the list n insurers.
It is because, it Lthe nutlier has maximum distance from origin
andg ranked last 1n the list of insurers , then it means that this
outlier ts on  the ragit Lail of the distribution.Similarly, the
one  with minimum distance and ranked first ,will be on left tail
2f the distribution.
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Tha ralabion oatwaen V 5 arnd outlier 13 that (if

hIN}
Lo inmures are large as compared to ovher

aimbanoe betmeen ary
Jthen we expect that one of the insurer

1.3 Y ]
1]
woll eirther e outlier onr be on

diatar
the bhoungdary ot confidence

interval.

AFFLICATION OF THE MODEL :

s31d that not many insurers are there in
lifa area in Indiz at present .Wz have taken data of (Life
Ingurance Corporation of India ,LICT) for the year 1991-92,1992-
I,1992-94 given in table diary of the year 1994,1999. Lat us
these three years data as it is coming from three
LICY, LIC2, LICIT and we would like to

between

Az we have already

consider
different insurers,say
study tha standing of three organiration and variability

them.

LIC 1

COFR = a = O.G76

b o= (1,277

MEDPR
ROCTCP = o =0.0%5

Since survey 1s nobt conducted ,theretfore , we are not using SR

2

A FR

LI 2

COFR = a = (.Q7%
MEOPR = b = Q2289

ROCTCP = © = 0.0%27
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GIRFR = a = G.0R2

MEER = b= O, 218D

ROCTUY = o = 0 0386
Co ordwnatezs of three 1asurers are LIC | 7. 18%)
LIe 2 Z 2289, 0. ] [ (O ORE O ZIBE, 00484 )
thres dimensional space.
Firat we wouald like ta zee the standing of three insurers
finding the distances of points from arigin,which is
2 2 Too%n
i3 = ¢ a + a3 + 3 B
i i i .
It gives o = Q.2814532 , o = Q. 2473174 , o = O.2EB20I3
1 z 3

Clearly,

LI E
How we
¢ LiC

Lhysmae

u

the standing of thrae orgamnization i

LJLID 1, LID 2 s (A
wowld like to find the variability betwsen
Vo, LIT R oy, LYo o, LI 3 o, (LI T ,LIC 3
s bl e W y L . W
12 13 23
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il
¥ = Q031 an
13
W = .0l isna4n

It ©an ba easilv seen that (LIC 1 % LIC 2 ) is closest followed
By LTt £ LIC 3 )y ang (LIC 2 % LIC 3 ) is farthest,which
contirms ( A 3 that LIC 3 and LIC 2 are distan® apart.

Mow we are interested in finding the outlier if any,thus the
9n% confidence interval of y is
d

(QL.2370464,0,.2480697)

d , d . [} lie in the confidence interval and we
1 2 3
are not regquirad to test for outlier here.But 1t is interesting
tao that o 1 oon thae left tail and d on right tail.
3 2
We conclode that d "s give the poasition of three insurers
1
ard  variazbility  between  them dis  within limit. .Yt will he =zmesn
later how ranks of od's and variability V helps in Choosing
i i3

tha INSUrers.

Ragarding the reliability of the above result , it can be noted
that the actual Bross yie=ld on the life2 fund is, for LICT tl12.43%
k]

LI t11..9% LICZ :11.34 for three years which proves that

above  vesult which o2 have caloulated i1s consistent and ra2lied
WpO .
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e that we 1ncrz2as? the numbar of parameters from

MNow 2t s suppa
Toko 9 1.e2. 24ding two more parameters = (1l-1% and

3= (lLiazbility)/Assets as o» fined earlier.

P Cofisidar co ardinates of
LT 0L QTE QLT 3L, O0RS O UEBOS ORI

DTG GG G R ET, G, 8848 G FAEED

toy
UIDT (G, 0BT, 0, 2187,0,04884 08737 ,0.9434

Talouwlated distances are

o =
1

[} = 1.701379%65
)

14 rman e sesen that vanks are d . . g

Dawa (LTS, LI01,LI00 )

Variation between the FParameters are :

Y = QLOOBRTT7LS

= G.C11i7779

\ = (0146508

Though, the order of ramk and variation 1s same ,1t can be
noted  that with the addition of extra components,the variability
batwaen the insurers has increased i.e. earlier we had a very
compact packing which has now loosened up.
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Consider the materis of paramater waluas for g ah
1IN3UTERS.IN3urers are arrsnged in descending arder.,

a t « gl J
o = LICz oL Q8302 [pER RN .48 G.Bve7 D L 2
5
a o= LIG: 074 GLERET G, OB5 G BRSNS G, GEFn
1
g o= Lice 0,079 CL2IES (R ey O.E844 [ Sede
s

It can be seen from above that every insurer has its own merit in
some or other areas NOW,0NE OF THE MOST CRITICAL QUESTION IS ,HIW
INSURABLE POPULATION WILL ABLE TO CHOSE HIS INSURER.
It is ftrue that the insurer which are being ranked ,they give an
sition but still those insurer which are in the middle
;have an edge over other competitor and may atiract
LIt can be seen that LICE 1s ranked 1zt
can bes saen from the value of '3 %

overall p
of  the list
certain saction of societ
Jhot in terms of soundnass it
30 obhat LISt % LICR stands batter.,
S, it remains  to be  answered

that how $the insurable
population will ohase his insurer.

For choosing the Insurer we have to look into the Economy of the
givan population , as it will dictate the choice of the paramater

In the ogiven economy different section of society will have
diffarent w2ights for different parameters.fFor example,if the
BCOMOMY (Like in Indial is divided inta three section
viz.pper,Mididle and Poor rlass ,then different section will have
different WEIGHTES for differert parameters.

Say Upper cilass will have following taste

e By are not bothered about Premiums rates
------- they are wvery particular about efficisnt service
~—=—==  they are ready tc take risk

we=- there may be zsveral cther factors which can
come out through opinion poll.
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wmill have z

Ly want premiumns should be in ranae
e ftrgy mav affaord middle level sarvioe
B thev may rot afford to take risk

Sk plus saveral wther factors shich can coms2 out
through opinion poll.

Poor Class will bave 3@

—————— they want premiums should be low.
——— they are not much bothered about sarvice.
————— thev are not at all reaidy to take risk

- plus several other factors which can come out
through opinion pall.

CRITERIA FOR CHOOSING INSURER

Consider a wmatrix called CHOOSING MATRIX where parameter values
ara are arranged in descending order i.e. bezt values are in
first row ,naxt i1n second row ,followsd wupto last row.

Steps for choosing i1s as follows :

Choosze the wvalue parameter from choosing matrix.

Identify the insurery, from which, chosen wvalue of
parameter has come.Remave any woutlier which is an the right tsil
i.e maximum distance from origin, immediately if any.
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Onize insurers are identifaied ythere are number of
passibilitias o
al AllL parameter wvalues are coming tfrom differant

iNsurers.

B Some parameter valuaes are coming from common insurers.

o) [t 13 possible that 1n the choice ,only one value is
from parti lar  insurs2y and of the values are fron some
ZONTHROM LNSLITErs.,
Hate ¢ It shaold be rememberesd that choiocse of paramstar values
indicates tha  weights  or  preference  for particular twpe of
satisfaction far each paramester

d) Various permutation and combination of choice of
oarameter is possible which is not be possible to discuss here
all.

Step 4: This is a follow up of step 3

Now 1f all parameter values are coming from different
insurar,then best possible option is £o pick the one which are on
the top of the vrank among the chosen insurers.

Mow i f w2 bhave common insgrer for a chosen value of
parameter ,for example,

Lat us assume that there are 17 parameters and say 10 insurers.
Chosen Value of parameters are

Parameter Values @ Insurer Name from which:
parametar valus has come

a,b,c, Ins.1
o, = Ins.2
fo9,h Ins.7
iym

kylym
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Gainoe Choroa indicates the waights y 1t cAan e SEan that
Inz.i,Ins.7 andgd Ins.D have T paramebers each.hNow see the distance
ot wzch  of  three 1nsurers{1.2, ranks) and also the wariability
betwesen thzse Yhree insurers.Choose the one which has higher rank
and wnnumam variability .00 we have to chose between Ins, 1,7,8%
S5 .0bvious chotoe can bye the ocne which are on too of the list
2NN threa,bual  vaviability batwean Ins.1,7,%% should alzn be
Teen asn it uwnll reflenct the deviation hatween  them and 3 f
deviation 1s nhigh L Ehe one wiith Bigher rank can e chassen.

Gz the rule )
) Identify khe ipnsuarer who has maximum pumber of parameters in

2
2 Choss the ome which has minimum distamce.
33 Further 1dentify other insurers which are in the wvicinity.

43 Choose on the basis of rank and variability.

iy considaer tih2 CHDOSING MATRIX for example where
parametar  wvalues ares  arranged as described l.e.b2st valy o f

pravameter  are  arranged in first row ,followed by aext in 14
row and 50 o0,

Here under the value of parameter ,name of insurer 13 given
bttt in real zsituation,name of insurer will not be shown  ag it can

mive biasdness.

a b [ ] J
QL2183 2.0484 Q.8757 0.9392
CLICS) (LIC3) (L1633 (LICP?
RO, 3,027 <, FBIRGS a.9470
LI (LIc2) (LIC1) (LICRS
O G832 G.228B9 (. Q85 L BB4d D.54%4
(LICT) (LIC2 (LIci) (LIC2) (LI

- 1
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sunpoae that an individual opts for best value 1.2. first

since  here ontions  are vary limited with only total of three
insurers.In this choice ,the option is betwean LIC1 f LICIand oo

outlier 15  there ,then from the list of ranked insurers ,he can
op k. for insurer LICE but if the wvariability between insurars Y
is  small yaption of LIG1 can be thought of.Mere the best option
igs LICE,

Let uws suppose that another person opts for second row.Here
parameter values h % h ° are coaming fram LIC1 and “a,=, are
coming from LICZ2.Here it indicates that weights of the individual
is  for Ca,so,A 37 which are clearly reflects that his choice is
LICE where as its rank is last.Here it can be said that LICL is
vankad  highsr  but Looking  at weights and
batween LICL 2 LICR (W ) LILD iw

12

zwall variability
a right choice.

hNow  further suppose that another individual opts for the
third row.Hers

‘o fod

from LIC1
‘b & h'is from

a is from

Cilearly,our choice  is beteesn LIDD & LIC yHinoe bobth insurers
have two parameters each.Since LIC1 is ranked higher than LICZ2
and wvariability be2twe=2n thewm is small,therefore, LICI
cholice.,

is a right
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